CCT Implementation Logic Notes 
Note: all the shift factors are calculated based on distributed slack bus.

1. How to calculate the Available Capacity (AvaCap) for a Resource?
	
	Long-Term CCT
	SCED CCT

	Generation Resources 
other than IRRs
	Seasonal Net Max Sustainable Rating
	HSL for online Resources; 

0 for offline Resources

	IRRs
	Seasonal Net Max Sustainable Rating on export side;
0 on the import side
	HSL for online Resources; 

0 for offline Resources

	DC Tie
	Full import capability on the export side;

0 on the import side
	Full import capability on the export side;

0 on the import side


2. Thresholds used in CCT:
	Threshold
	Definition
	Default Value

	SFP1
	Minimum shift factor threshold for determining which Managed Capacity to include in the ECI calculation
	 2%

	ECIT1
	Maximum competitive threshold for ECI on the import side of a constraint for the Long-Term CCT process
	2000

	SFP2
	Minimum shift factor threshold for a constraint to be eligible to be a Competitive Constraint as part of the Long-term CCT Process
	2%

	ECIT2
	Maximum competitive threshold for ECI on the import side of a constraint for the SCED CCT process
	2500

	SFP3
	Minimum shift factor threshold for a constraint to be eligible to be a Competitive Constraint as part of the SCED CCT Process
	2%

	DMEECP
	Threshold for the ECI Effective Capacity for an Entity or its Affiliates to determine if their Managed Capacity is eligible to be mitigated as part of SCED Step 2
	This variable doesn’t currently exist. CMWG is analyzing 10%, 5% & 2%

	SFP4
	Minimum shift factor threshold below which a Resource will not have mitigation applied in SCED Step 2
	2%


3. How to calculate ECI?
· ECI is only calculated on the import side for each constraint c.

For an entity en who manages or has control over a resource r having negative Shift Factors with absolute values greater than the minimum of 1/3 of the highest absolute value of any Resource Shift Factor with a negative value ([image: image2.png]


 ) and SFP1.
(a) Effective Capacity: 
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(b) Percentage of ECI Effective Capacity:
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(c) ECI on the import side:
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4. How to determine whether a Pivotal Player exists?
a) Calculate the total capacity of Nuclear capacity and minimum energy amounts from coal and lignite capacity:
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Where 

· n is indexed over N which is the set of all Nuclear capacity, 

· l is indexed over L which is the set of all coal and lignite capacity in the whole system,

· LSL is the minimum energy amounts of the coal and lignite capacity.

b) Sort Entities in descending order of [image: image8.png]PvtCapByEntity.



, excluding Nuclear capacity and minimum energy amounts from coal and lignite capacity, from the stack. 
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c) Let the kth (k=1,2,…,K) entity in the list of b) be LE, where k is indexed over K which is the set of all decision making entities.
d) Re-order all Resources in the whole system, excluding 

· Nuclear capacity and minimum energy (LSL) amounts from coal and lignite capacity from all entities and 

· All resources, having negative shift factors to the constraint c,  of the entity LE selected in c) above,
                    in ascending shift factor order. The re-ordered resource set is indexed with 
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e) Select from the re-ordered stack resulted in step d) above enough capacity to meet load D.
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and 
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                          where 

· 
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 is the partial capacity of the last capacity selected from the stack. 

· L’ is the set of all coal and lignite capacity in the whole system excluding the coal and lignite Resources, having negative shift factors to the constraint c, of the entity LE.
· R is the set of all Resources and

· RLE is the set of Resources or part of Resources, excluding the coal and lignite Resources, which have LE as the decision making entity and have negative shift factors to the constraint c.
f) Evaluate the impact on the constraint.
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g) If  
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,  the kth entity is not a pivotal player, then stop. Otherwise, mark the kth entity as pivotal player, let k=k+1, go to step d).
5. How to determine the status of a constraint in Long-Term CCT?

· Long-Term CCT will be studied based on the software developed by Market Analysis group.
· Runs once a year for the month with the highest forecasted load in the following year.
If all the 3 conditions below are satisfied, then the constraint is classified as competitive for the Long-Term CCT:

a) [image: image22.png]ECI. <ECIT1




b) No pivotal player exists
c) [image: image24.png]ir €R: SE,
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6. How to determine the status of a constraint in SCED CCT?
CCT is performed for all active constraints for each SCED interval.

If all the 4 conditions below are satisfied, then the constraint is classified as competitive for the current SCED:

a) [image: image26.png]ECI. < ECIT2




b) No pivotal player exists
c) [image: image28.png]ir €R: SE,

=—1xSFP3




d) The constraint was not marked as non-competitive by a previous SCED CCT within the current operating hour.

7. How often is the competitiveness of a constraint evaluated in SCED?

 A constraint that is determined to be a Non-Competitive Constraint by the SCED CCT within an Operating Hour will not be re-evaluated for its competitiveness status for the remainder of that Operating Hour.  However, the SCED CCT will reevaluate the percentage of the ECI Effective Capacity on the import side for each decision-making authority and whether the decision-making authority is a pivotal player for the constraint.  SCED will re-evaluate the competitiveness of the Non-Competitive Constraint starting with the first SCED interval of the next Operating Hour if the constraint remains active in SCED.
8. IMM override of the competitive/non-competitive status of a constraint will be effective by a specific date in the notification.
9. How to determine if mitigation application will be applied to a Resource in SCED?
· If mitigation has been applied to the resource in the previous SCED intervals within the same hour, then mitigation will be applied to the resource in the rest SCED intervals within the same hour. 
· Otherwise, check the following 3 conditions:

a) The constraint is Non-Competitive

b) The DME is a pivotal player, or  [image: image30.png]_EfCepByEnteen - DMEECP
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c) [image: image32.png]SE.r < —1xSFP4




If all the above 3 conditions are satisfied, then apply mitigation to the Resource. 
10. What is the change of SCED Mitigated Offer Curve logic in the New NPRR?
In the new NPRR, the Energy Offer Curves will be capped at 

max(ReferenceLMP+α*PriceAtLSLonMitigatedOfferCap, MitigatedOfferCap), where α=0.01.
_1426068726.unknown

_1426068728.unknown

_1426068730.unknown

_1426068732.unknown

_1426068733.unknown

_1426068731.unknown

_1426068729.unknown

_1426068727.unknown

_1426068724.unknown

_1426068725.unknown

_1426068723.unknown

